_ VAN

A AT
ERTvFEE
TE=&:

st &l
EREE

Ei#EwfE (HE) :

ST b g i
%L_Lﬁgﬁ =]

A - HE
AN (L) =
wEEE (W) =

—Z

BIRIRIZEER T, FH

AL

BDEEYERRE L TW
x4,

MAT5-1.2 " MATS-1.6

205 (SDP1TG) & 235 (SDP2G)

SPW {(4.0KN/EFR) O T A8 (3IKN

BEEREDEE
3000 mm

0 N/mi HEEEEE (D) =

Q® (=aTmszAALITEN

m 777 N Ml

B ANERTYFOBEHES

m FiiE

EEROBTAZE L BT
B O IR RSO S
%%% L 7:%\]1%{%@1—3—0

/EET)

RET—2DE
IR

*

 FUadal (15TKEN/ErT)

BEOEAGEE (y) = 20 N/em/md

60 om

£ F3EE (WO) = 300 N/mi EOLYUEE (B) = 1.20 ERTES2 (H) = 18 m
[

(—HRDHE)

Eis=
HMEEEEES : | &1

EHiERE (VO) = 34 mfsec _:]LI

cmcm

i A HEDETE ATTEDEIE
0

T=2MEBICT — 2 RTE

2021/11/17

OBIEREHE. (1) BARSKEmERERI 7Y+ T — NRIBIEEET - BT ARE-2004 1 KU (1) BASE BRGS0 RS ERAESSR20071(C L5,
QREHEER. Ta1295831 REHEERFE14585(1CL3,
QEIRAARGIEEIR T, PASHELDERENZFAIE TS,

@FDIHRTE THISHFNINGOZ S, TyHERIF COERALR3,

B TEER
tEml

mEETERMF
@RI
@FvFIL—h

Ot LI
@REDIEAE
WERETRIE DR
OEERE
QEHME
OETHE

@RFEETE (IEFE)

ORFIE (BF)

WS - EDHRTE

1) REAICESSH
ISFIRTE
TEDIHARTE (BEFESTHY)
TEDIHARTE (EHESZH)

I) 5HACET S
REREE
REAREE (IEE)
REKREE (BE)
IGFIRTE
TEDIHARTE (BEFESTHY)
TEDIHARTE (EHESZH)

) #HAEPICETZH
- BREARTE

m ER30D M KABEEREIRTE

- MNP B ST 1 R/
RIIUNEHESS LT E S VI

BRI (L) = 3,000|mm
&4 . [MA75-1.2
[ES = 1.2|mm
EEnE = 235|N/mm?
HE (wd) = 138|N/m?
WRE2RE— Xk (Ix) = 167.8|x10*mm?*
B ERER (Zx) = 44.2|x10°mm?
EHDHBIEFER (.0 = 1.00
SHAE DR IE1RER Q) = 1.00
ST 155 (E) = 2.05 x10°N/mm?
f+ iFEE (Wo) = 300{N/mm?
(Qa) = 20.00[KN/m
G = 438 N/m?
P =] 0|N/m?
BEOEANE (y) = 20 N/cm/m?
EERDE (D) = 60Jcm
LIRS (X) = 1.20
S = 1,440 N/m?
hFREHEEX = il
EAERR (V0) = 34|m/s
EiRFEEe (H) = 18|m
I FREAEE(CLDHE (Zg) = 350(m
I FREAEE(CLD5E (a) = 0.15
EaA M TRE (Er) = 1.09
TEEE (q) = 823 N/m?
IEEE-IRI%ER (pCf) = 0.5
Wp = 412 N/m?
BREE-IRIFHER (nCf) = -4.3
Wn = -3,539 N/m?
W = 438 N/m?
0=1/8+ W-(L/1000)%/Zx = 11 N/mm?
ss5=1.5-,C-5/384+ W-(L/1000)*/(E-Ix) = 2.02 mm
csd=1.5-,C-1/145- W-(L/1000)*/(E-Ix) = 1.07 mm
sW = 3,101 N/m?
sWs = 1,878 N/m?
sWwp = 850 N/m?
sWwn = -3,101 N/m?
0=1/8-sW-(L/1000)%/Zx = 79 N/mm?
ssdy=sC-5/384-sW-(L/1000)*/(E-Ix) = 9.5 mm
csdy=sC-1/145-sW-(L/1000)*/(E-Ix) = 3.9 mm
qw = 3.10 KN/m?
Qy=1.25-qW-L = 11.63 KN/m
S.S. = 3.400 m
D.S. = 4.400 m

I L — k&
L TIRETZEY,

(SDP1TG: 205N/mm? / SDP2G: 235N/mm?)

(MA75015&: 1.00 / V500i5: 1.16)
(MA75015&: 1.00 / V500i5: 1.20)

SPW (4.0KN/&iFT) @200

(=Wd+W0)

(FBSORIEEER)
(=y*D*/cos(1.5%B)*X)

(I ~NOWITNHERIRTB)
(FR12EEREER14542(CL3)
(H>5mZXI5R)

1:250/ I: 350/ 1: 450
1:0.10/ I:0.15/1: 0.20
(Er=1.7(H/Z2g)%)
(q=0.6*Er**V0?)

(FERIRS1 TREATHELI DR )
(=pCf*q)

(FERIRS1 TREATHELI DR )
(=nCf*q)

(=G+P)
=F/1.5=
=L/250 =
=L/250 =
(=Max, [sWs, sWwp, [sWwn|])
(=G+P+S)
(=G+P+Wp)
(=G+P+Wn)
=F=
=1/180 =
=1/180 =
(=|sWwnl)
=Qa=

157
12.0
12.0

N/mm?
mm
mm

235
16.7
16.7

N/mm?
mm and 20mm
mm and 20mm

20.00 KN/m

3.000 m
3.000 m

[\ I\
|

OK
OK
OK

OK
OK
OK

OK

OK
OK

HE



